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THY i [E b 200 kg 200 0 0
7UE 1 4% 50 kg 50 0 0
RENAZ=V)N F 7 250 & 225 25 0 0
YREN VYN FlRf 100 & 90 10 0 0
NETAS FlRf 200 1@ 180 20 0 0
fe A4k Felkf 100 & 90 10 0 0
¥ Yu—y KTV 500 500 0 0
FUA T 150 kg 150 0 0
UEDZIN 78 100 1 90 10 0 0
FH K lEsh 500 kg 500 0 0 0
PN ATRSL Rk 150 1@ 140 10 0 0
VEES N 300 & 270 30 0 0
FTHAYY T TAATUR 50 kg 45 5 0 0
EFA RS Rk 100 & 90 10 0 0
LI A 7L Rk 300 & 270 30 0 0
b7 A4k FIf 200 kg 180 20 0 0
T hA i3 50 kg 50 0 0 0
YVAA, A5 Rk 100 f& 90 10 0 0
Y A%, L7254 FlRf 300 1@ 270 30 0 0
YA HAL & Il 220 & 210 10 0 0
Y44 Kl 100 & 90 10 0 0
Vvagh % 400 1 360 40 0 0
-7 VAR 1,500 1,500 0 0 0
G OZAPIN FoIf 150 kg 150 0 0 0
T4 5k @ Il 200 kg 200 0 0 0
G FeIf§ 800 kg 800 0 0 0
43 A2t 4t i i) 100 kg 100 0 0 0
AN W24 Koy 150 & 140 10 0 0
BTt RS 50 kg 50 0 0 0
A= PESETIN 2,000 ¥z 2,000 0 0 0
UINAYZIS FlRf 50 1 50 0 0
LY R IR 30 1@ 27 0 0
K7y 3k (=85 200 & 180 20 0 0
KHPATY 4k F5H 100 90 10 0 0
AhA B IR 30 K 27 3 0 0
AhYA B IR 50 fF 50 0 0 0
BHNT JEE 2 5 4 800 A< 0 800 0 0
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=<7V REAR S} 350 0 350 0 0
AR R4 50 A 0 50 0 0
=44 i 300 kg 270 30 0 0
=44 R h 2,500 # 2,500 0 0
BNYF FlRF - 150 A 150 0 0
FEIA JEE VR ok 150 A< 150 0 0
b7 A i ] 800 kg 90 710 0 0
fu & [ 500 1@ 460 40 0 0
I&Au = 100 kg 100 0 0 0

* At * 2,000 2,000 0 0 0
3,700 kg 2,935 765 0 0
3,800 3,462 338 0 0
1,180 A& 27 1,153 0 0
4,850 2,000 2,850 0 0
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